-~ 8

I

http /[farbe.li.tu- berlm de/CEA6/CEA6LONA TXT /.PS; onIy vector graphlc VG; start output
no 3D-linearization (OL) in file (F) or PS- startup (S)

N:

I

log L* g5 2 LABJIND lightness log (L* g5, JL* 852, l)LABJND Ilghltnezst " log L* g5 2 LABJIND lightness log (L* g5, JL* g5 .2, l)LABJND Ilghltnezst "
— L*g5.2 L*g5 AL 5.2, oNnormalized to the L*g5.2 L*g5 AL 5.2, oNnormalized to the
D 0 L* o = (H2) In (1 + & 1a1|| 24100 ! bac?( round lightnessL* 24100 ! bac?( round lightnessL*
o D g5, (t/a) In ( Y) [1a] g g 85,2,u g g 85,2,u
=5 (¢ L*g5 5= (Ua) In [ 1 + b (Y/Yy)] 2%3[% LHL* = (a) {In (L+aY)/In(1l+aYy} [1b] 2955
=) a=0,3411 t=88,23 t/a=258,6 b=6, 14_1 I 3Y L*/L* = (Wa) {In[1+ b (Y/YQ]/In(1+Db)} [2b] )
== - =0,3411 t=88,23  t/a=258,6 b=6,141 3 -
.= 1410 @ 3 .- 1410
SE o gz =2 =0 =T 4,431 1085520270 m043. - 4431
— o L*g5,2,7508 Y,=18 » 7 4 sem==="T - L*g5,2,7508 Y,=18 » 7 4 sem==="T -
3., : 2100 .° . okt 852852010 T, 5" 2100 ," . '09[(L*852L/|—*852L)] 0 ”\!G"B
=) % e ! — L*g5,2,7508 V=18 * 4 e ! |—8521r503Y s18° 7
3 wn 17 2,' . application >y 1 application 17 2" 1 application ° ' application
- - Yn=3,6;Y,=18 | Y\y=90 range ¢ |YN=3,6'Y,=18 | Y\y=90 range - 1 Y=18 range . "Y,=18 range
QD = N 1 10 , 100 1000 10000y | Ped 101 100 1000 10000y N 1 10 , 100 1000 10000y || . Ped 101 100 1000 10000y
~ —+ - > ” v
= -1 0 1 2 3 4logY || -1n 024 O 1 2 3 4logY - 0 1 2 3 4l0gY || -1nnq4 O 1 2 3 4logY
o° o=t
o0 - —_
Ik log AY CIE tristimulus value difference AY, log(AY/AY,)  CIE tristimulus value differencg? log AY CIE tristimulus value difference AY ,* log(AY/AY,)  CIE tristimulus value dlfferenc;'
_8- g ) ?g L*g52= (V@) In (1 +a'Y) . [1ic] , ?&’)ML“ o )T Ttirmag)zed toAY, Re ” ) ?g ',' , %%AY” AY normalized toAY,, Re
bt a=0,3411 t=88,23 t/a=258,6 b=6, 14 [2 *g5= (V@) In (1 +a . . s
=0 tristimulus value Y difference a=0,3411 1=88,23 Ua=258,6 b=5141 2 R o
g - dY = (Aj+A,-Y)/A,, see CIE 230; E'q' A 7a) [4c] normalized tristimulus value Y diﬁsrgﬁce " "o
o E" o1 dY=(s+qY)/c, sekichter(1985) [3c] dy/dy, =@ +avY)/(1+ a‘Yu)', [3d] ols Re Ao L
S'D CIT dy=(1+ay)/t " [5¢] 'o " 'o
— dY=(1+b(Y/Y)]/t _# [6¢c] R4 v
— (-3 A1=5=0,0170 A==0006Y A=c=15 [7c] e R
= || dosouev=10am-oge’ | Yoo18 9%,008 0y o os 1ho006)=-1.08 m 08 | Yoo18 9%,008 0y o os
o Y218, dYy 'oBs'Jwv =0,004 [ log[(dY,)/(dY,)]=0, n;,‘o 86 [ Y,=18, dvy 'oBs'Jwv =0,004 [ log[(dY,)/(dY,)1=0, m=0.86 [
Q o application application L application e’ application
=Q U-m—-lYN_s 6.Yu =18 | V=90 range _ - =3, G:YU 18 | Yyy=90 range 0.012 . .Yu =18 range 0149 __- 1v,=18 range
= P 100 1000 10000y =" | 10 100 1000 10000y P 0, 100 1000 10000y *-="" 10 100 1000 10000y
@) 2t -1 ) . ] -1
g g = 0 1 2 3 4logY || - 0 1 2 3 4logY - 0 1 2 3 4logY || - 0 1 2 3 4logY
) — —
o log AY/Y) CIE Y sensitivity log [(AY/Y) I AY,/Y,)] CIE Y sensitivity log AY/Y) CIE Y sensitivity log [(AY/Y) I (AY,/Yy)]  CIE Y sensitivity
S0 S=(AY/Y) S/S,=(AYv)IAY,Y,)  hormalized to AV Y, S=(AY/Y) S/Su=(AYM)IAY,Y,) hormalized to AV Y,
= 040,059+ 45 = (a) In (1 +ay) (el || 24200 Lxg5=(wa)in(1+aY) [1f] 040,059 24100
= g & a=0,3411 t=88,23  a=258,6 [24 a=0,3411 =88,23  t/a=258,6 [2f ..
-Q Figtimulus value Y sensitivity iiptimulus value Y sensitivity A
=9 dS/Y (1+avY)/(tY) [3e] 13'3%9:(/\() 1 (@YY, s 13340
z S(l+a tr e
I:I “1p01 NV . it SIuN :[(1+ua-$)/v]/[(1+a-v)/v 1 [31] -it0 Mo it SIuN
w — = _,3_4‘W\1—-0,13 0,003 AN w Ty | _ |_09_(d_Y iY_) _-‘;l 3_4 m,=-0,13 0,003 AN
OZ IR ) iR YuladYuOOSdYuiYuT)U@-'--------‘ ~~
- ~
E ~210,01 application Ofelm s o s ul] S {3- [ —— .0.860 -240,01 ' application "’.g[idf I.YLL)/(.d! ’f“l] 20, mi=-0, 13_ e meeea _0.860
© range 170, ' range Y,=18, dY,=0,08 dYU/Yu10 3,004
D ; ] application : application
D Yyi=3,61Y,=18 | Yyy=90 Yy=3,6'Y,=18 | Yyy=90 range 'v,718 'Yu 18 range
o = 1 10 | 0 1000 10000y |l 1 10! 100 1000 10000y = 1 10 ! 100 1000 10000y || 1 01 100 1000 10000y
a = 0 1 2 3 4logY || - 0 1 2 3 4logY - 0 1 2 3 4logY || - 0 1 2 3 4logY
A, log (Y/AY) CIE Y-based contrast log [(Y/AY) I (Y,/AY,)] CIE Y-based contrast log (Y/AY) CIE Y-based contrast log [(Y/AY) I (Y,/AY,)] CIE Y-based contrast
uBYy C uBTy -
g C,:(Y/A*Y) C/C=(Y/AY)/(Y,/AY,) hormalized to Y /AY, C,=(YinY) C/C=(YIAY)/(Y,/AY,) hormalized to Y /AY,
g L 35 5 l(tl/a) ln E581;3 a Y)t/ - [1?2] 100 L*go = (tfa) In (1+aY) [1h] 24100
a=0, =88, a=258, d a=0,3411 t=88,23  t/a=258,6 [2
@ tristimulus value Y contrast tristimulus value Y contrast
YidY=(1+aY)/(tY) [39] (YIdY) / (Y, /dY,)
=. u/dYy,
= 3 0 1410 SIYI (L)Y, (1+aYy)] (4h] 341000 1410
258, log[(Y,/dY,) = 2,34 m,=0,13 258,9
L L L L L ) 1164 || FoEamsmala e L L L L ) 1162
N 1\(;0_1R dY,=0,9 ru/ﬂ'Yu_zzz 10g[(Y,/dY)/(Y/dY)I=0, M=0,13_ _ | . o o mm e o o Y =18, dY, -09&?/5\(“-222 Iog[(Y /dY,)/(Y,/dY,)]=0, mz=0 013 & e mmm-- Py
/' ! Xo=18,0¥,=0,08 Y,/Y,=222 e ! 1,218 av, B@&?F/ﬂ'Yu_zzz
16 ,’ 1 application Py . ] application 16 , ] application P application
6 Y\=3,61Y,=18 | Y,=90 range Re Y\=3,6'Y,=18 | Yy, =90 range 6 1Y,=18 range Re lvu 18 range
¢ 1 01 100 1000 10000y 0074 1 10! 100 1000 10000y ¢ 1 10 100 1000 10000y 0 014 1 101 100 1000 10000y
1 -1 1 -1
= 0 1 2 3 4logY || -1 @ 0 1 2 3 4logY - 0 1 2 3 4logY || -1 @ 0 1 2 3 4logY

CEAB0-7N

2 e

-6

log[lightnessL*, thresholdAY, sensitivityAY / Y ,contrasty /AY], unnormalized and normalized
C Y (0] L

M

CEA61-7N

TUB-test chart CEAG6; For LABJND colour-difference formula, see CIE 230:2019

Vv

__n

ndino jund 1o Ae|dsip Jo Juswainseaw pue uoleneAs 1o} uoneoldde

Sd’/ 1X1'YNO19VY3D/9v3ID-TOTT0Z0Z :uonensibal ani

9p09 :[eudrew gNn.l

Y=

-6




